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 (284 – 737,24) + 4225 :         �� و أ
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  2,5 ÷ 79,52                             0,1                                                                            ا���رج ���ب إ�� 
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  ا	����ا	���� ا���س  ا���س ا	�����ا	�����  ا	ـ��ا��� ا	ـ��
ـ��ةا	ـ��ا��� ا	ـ��
ـ��ة  ا	ـــ��ــــــــــــــــــ���ــ�تا	ـــ��ــــــــــــــــــ���ــ�ت  22001122--22001111

4  

3  

3 

3  

(D) B 

A 

D 

C 
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  :ا��;-+*'    �+ل ا�� ا�+� ة
                        32,14g            =   ……………   dg 

                       7,1km² + 9dam² = ……………   a 

                        33m  = ……………   hm 
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 ����A ا�&@# ا����4 $? أBا�&@# ا��-+ن DE,� و '���  :/�Eس �
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 د/�H45 '0�H DH+��* '�Eرت ��I-' �-(�# ا�� ر4H �� ة 
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km48.  

   ؟kmا����Iـ' ا���H 4ر!�M ب �� ه4 
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